BIITAOERFICHE T L ERBHAREANERR (FHO6F4AS)

AIEHS  IRIEWETEE=4 Radi (PA-1000)
RIS  REF-IXEED R RFE 1 &R

REFLEIEENEHHSHERIE. ThEndR{TEZAE LFEHEZEDR)
AlEE #EE50c m (FEKRIEImM)

1 2RTHEOHS BE1ERH)

1 Sv/h
0.300
St {1
oo (18]
0.200 | XEAESRNLRELLTOAEANS S EMRIER S
BrEF0.237 A0 —AN LM (=FERB1ZYS—AJLR)
0.150
0.100
[F5{E])
0,050 S S e SN
0-000 T T T T T T T T T T T T 1
R5.4 R5.5 R5.6 R5.7 R5.8 R5.9 R5.10 R5.11 R5.12 R6.1 R6.2 R6.3 R6.4

2 MEERIEDAITHER
INEERR GRIFERS50em)

B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
B I/ AR R6.4.23 14:20 ) 0.059 B EEREFESOcm
SENER R6.4.25 14:05 i 0.042 B EERFESOcm
B H/NER R6.4.22 13:48 i 0.059 B EERFESOcm
FBIINEERR R6.4.12 14:24 ) 0.052 B EERFESOcm
{hEBT /R R6.4.8 14:10 £ 0.057 B EERFESOcm
/RN R6.4.23 13:30 ) 0.065 B EERFESOcm
RARINERL R6.4.18 14:10 ) 0.055 B EERFESOcm
AR F IR R6.4.2 14:20 ) 0.041 B EERFESOcm
GR/DERR R6.4.25 13:40 & 0.047 B EERFESOcm
MEH/NERR R6.4.4 13:30 BE 0.049 B EERFESOcm
IKARINERR R6.4.3 14:10 £ 0.068 B EERFESOcm
KAMINFERE R6.4.4 14:40 & 0.048 B EERFESOcm
KiBINER R6.4.2 13:35 ) 0.071 B EEREFESOcm
&RINERR R6.4.1 14:15 £ 0.034 B EERFESOcm
BILNERR R6.4.1 13:50 ) 0.064 B EERFESOcm
SHEEF /R R6.4.16 13:35 & 0.059 B EERFES0cm
H R /R R6.4.12 14:00 ) 0.063 B EERFES0cm

HE/NER R6.4.12 13:35 ) 0.069 B EERFESOcm
BHNER R6.4.11 14:10 & 0.047 B EERFES0cm
AEEINERR R6.4.3 14:30 £ 0.093 B EERFES0cm
IRARR/NER R6.4.15 14:35 & 0.062 B EERFESOcm
th B /- p g R6.4.8 13:40 ) 0.052 B EERFES0cm
Hifiz R R6.4.10 14:14 & 0.049 B EERFESOcm
LI ER/NEERR R6.4.10 13:38 & 0.062 B EERFESOcm

FAIL/NERR GRIER50em)

B 7E 15 i AER [AIFERZ| Rix| BIFEE(y Sv/h) ke

AR =ZB/NER R6.4.19 15:00 i 0.070 R BEEFE50cm




A IR GRIER50em)

B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
BRI R R6.4.5 13:45 £ 0.058 B EERFESOcm
PR GllESIm)

JBIE IS BIER | BIERZ]| XI1Z| BIEE( Sv/h) ik
EEE R6.4.23 13:50 ) 0.059 ZRE1m

R PR R6.4.8 14:40 ) 0.069 ZRE1m

B F R6.4.22 14:05 [ 0.048 ZRE1m

B AR R6.4.22 13:25 [ 0.050 ZEE1m

Z B hPiR R6.4.5 14:00 ) 0.050 ZRE1m
KAGR DR R6.4.18 13:50 ) 0.051 ZRE1m

B F R R6.4.2 14:00 ) 0.047 ZRE1m
REFER R6.4.3 13:40 ) 0.062 % BE1m

B ERER R6.4.4 14:15 g 0.064 ZRE1m
EEEEEN R6.4.11 14:50 g 0.069 ZRE1m

28 Th e s R6.4.11 13:20 g 0.054 ZRE1m

AR R R6.4.16 14:10 g 0.055 ZRE1m

A PR R6.4.15 14:10 g 0.054 ZRE1m

+ F iR R6.4.10 14:45 g 0.063 ZRE1m
FAILFER GEZIm)

B E IS BIEH AERZ| XiE| BIEE(USv/h) ik
T AN ZE PR R6.3.28 10:30 £ 0.079 BEIm




YHE - RBECELE - REE GIES50em)
B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
FECXELVA— (IBEBEHHE) R6.4.15 14:39 i 0.069 B EERFESOcm
RiBYHE R6.4.22 13:00 i 0.065 B EEREFESOcm
Bz sh#EE R6.4.25 16:10 & 0.056 B EERFESOcm
MREEE R6.4.22 13:05 & 0.063 B EEREFESOcm
hAHEEIRBE R6.4.18 13:30 & 0.056 B EERFESOcm
EBLYREER R6.4.16 8:00 & 0.064 B EERFESOcm
EEERER R6.4.19 13:30 & 0.073 B EERFESOcm
HRERECELE R6.4.15 14:33 & 0.064 B EEEFESOcm
BEKIFREER R6.4.19 14:30 i 0.066 B EERFESOcm
HT=REE R6.4.22 14:40 & 0.055 B EERFESOcm
WHCIREE R6.4.19 14:30 2 0.049 B EEREFESOcm
FEOFERECELE R6.4.4 14:00 & 0.055 B EERFES0cm
{LIREE R6.4.15 14:15 & 0.062 B EERFESOcm
L5588 R6.4.19 15:30 & 0.054 B EERFESOcm
IIHHE, BECELE. REEBR GIES50em)
JBIE IS BIER |BIERZ] XI1%| BIEE( Sv/h) ik
+ES#HE R6.4.17 16:00 [ 0.036 2% BE B FES0cm
BEOHHE R6.4.17 11:30 g 0.072 2% BE B BES0cm
HE9#E R6.4.25 14:30 [ 0.080 2% BE B FES0cm
RECELEEILWLCE R6.4.10 16:10 i 0.069 X JZE B FE50cm
WIEY S HE R6.5.14 13:30 i 0.064 R = EE50cm
DI E R6.4.26 16:30 ) 0.045 2% BE B FES0cm
BEIELEUVALLE DS HHE R6.4.10 13:30 [ 0.054 R BEBERES0cm
T $hHEE R6.4.16 11:05 2 0.058 2% BE B BES0cm
WM B DM E R6.5.8 11:15 ) 0.069 3% REEFE50cm
T EDFLhFEE R6.4.25 14:00 g 0.072 2% BE B FES0cm
HEHDESHE R6.5.15 14:40 [ 0.068 2% BE B FES0cm
KRHMESFHE R6.5.14 16:00 [ 0.071 2% BE B FES0cm
REELRALWVE R6.4.26 17:00 £ 0.065 X JZE B FE50cm
=SEHHE R6.4.20 16:00 g 0.059 2% BE B FES0cm
HHPYHE R6.4.10 14:00 [ 0.055 R EE B FE50cm
WLEBRECELE R6.4.16 14:10 [ 0.076 X JZE B FE50cm
INKEERRER R6.4.27 9:00 ) 0.057 2% BE B FES0cm
—ELDWZRETECELE R6.4.23 16:00 £ 0.039 X JZE B FE50cm
EE A& J’L{% =& R6.5.10 11:00 i 0.068 R = EE50cm
BINERREE R6.5.14 7:40 [ 0.060 2% BE B BES0cm
?‘Trb/u{%’él R6.4.8 11:15 ) 0.076 % BE B BES0cm
HKLAIFREE R6.5.14 9:00 ) 0.049 2% BE B BES0cm
V= EZ2REE R6.4.28 12:20 i 0.064 X JZE B FE50cm
ZEXKGRECELE R6.4.23 14:45 ) 0.052 2% BE B FES0cm
FRAHNDEREE R6.5.12 12:30 [ 0.057 2% BE B FES0cm
hAUITREE R6.4.25 14:15 [ 0.054 2% BE B FES0cm
HZLEEEBE R6.4.26 16:00 g 0.070 2% BE B FES0cm
HEHREE R6.4.8 14:00 2 0.076 2% BE B FES0cm
EEEREECELE R6.4.9 16:00 55 0.063 X JZE B FE50cm




